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M.Com DEGREE EXAMINATION,  
DECEMBER 2019. 

Second Year 

INTERNATIONAL BUSINESS 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4  5 = 20 marks) 

Answer any FOUR of the following. 

1. (a) GATT 

  V>sŒ  

 (b) Comparative costs 

  ™èþ$Ë¯é™èþÃMæü Ð@þÅÄ¶ý*Ë$ 

 (c) MNCs 

  MNC Ë$ 

 (d) Corporate Culture 

  M>ÆöµÆóÿsŒý çÜ…çÜP –† 

 (e) International production 

  A…™èþÆ>j¡Ä¶ý$ E™èþµ†¢ 

 (f) WTO 

  WTO 

 (g) Regional trade groups 

  {´ë…¡Ä¶ý$  Ð@þÆæÿ¢Mæü çÜÐ@þÊàË$ 

 (h) Strategy designing 

  Ð@þNÅàË Ææÿ*ç³MæüËµ¯@þ 

SECTION B — (2  10 = 20 marks) 

Answer any TWO of the following. 

2. What is meant by international business? Explain its importance. 

 A…™èþÆ>j¡Ä¶ý$ ÐéÅ´ëÆæÿ… A¯@þV>¯óþÑ$? §é° {´ë«§é¯èþÅ™èþ¯èþ$ ÑÐ@þÇ…ç³#Ð@þ¬.  

3. Discuss about strategic planning in MNCs. 
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 MNC ËÌZ Ð@þNÅà™èþÃMæü {ç³×êãMîüMæüÆæÿ×ý¯@þ$ Væü*Ça ^èþÇa…ç³#Ð@þ¬. 

4. Write a note on multinational corporate culture. 

 ºçßý$â¶ýgê† M>ÆöµÆóÿsŒý çÜ…çÜP –†Oò³ ÐéÅÝë°² {ÐéÄ¶ý¬Ð@þ¬.  

5. Describe about evaluation of performance in MNCs. 

 MNC ËÌZ °ÆæÿÓÆæÿ¢̄ é çÜÒ$„æü¯@þ$ Ð@þÇ~…ç³#Ð@þ¬. 

SECTION C – (2  15 = 30 marks) 

Answer any TWO of the following. 

6. Discuss about significance of HRM in MNCs. 

 MNC ËÌZ HRM  Äñý¬MæüP {´ë«§é¯@þÅ™èþ¯@þ$ ^èþÇa…ç³#Ð@þ¬.   

7. Give an overview on state of international business in developing countries. 

 AÀÐ@þ–¨® ^ðþ…§æþ$™èþ$¯@þ² §óþÔ>ËÌZ  A…™èþÆ>j¡Ä¶ý$ ÐéÅ´ëÆæÿç³# íÜ¦†° ÑÔ¶ý©MæüÇ…ç³#Ð@þ¬. 

8. Critically examine the modern theory of international trade. 

 B«§æþ$°Mæü A…™èþÆ>j¡Ä¶ý$ Ð@þÆæÿ¢Mæü íÜ§é®…™é°² ÑÐ@þ$ÆæÿØ¯é™èþÃMæü…V> ™ðþË$µÐ@þ¬. 

9. Describe the role of international organisations in making multilateral 
agreements. 

 ºçßý$´ë„ìüMæü Jç³µ…§éË Ææÿ*ç³MæüËµ¯@þÌZ A…™èþÆ>j¡Ä¶ý$ çÜ…çÜ¦Ë ´ë{™èþ¯@þ$ Ð@þÇ~…ç³#Ð@þ¬. 

—————— 
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M.Com. DEGREE EXAMINATION, DECEMBER 2019. 

Second Year 

MANAGEMENT OF INFORMATION SYSTEMS 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4  5 = 20 marks) 

Answer any FOUR of the following.  

1. (a) System development 

  íÜçÜtÐŒþ$ yðþÐ@þË‹³Ððþ$…sŒý  

 (b) Distributed environment 

  yìþ[íÜtº*ÅsñýyŠþ G°ÓÆ> Œ̄þÐðþ$…sŒý  

 (c) Database 

  yóþsê»ôý‹Ü  

 (d) Data Resource 

  yóþsê ÇÝùÆŠÿÞ  

 (e) WAN 

  WAN 

 (f) System analysis 

  íÜçÜtÐŒþ$ ÑÔóýÏçÙ×ý 

 (g) Hardware 

  àÆŠÿzÐóþÆŠÿ 

 (h) Computer language 

  Mæü…ç³NÅrÆŠÿ ¿êçÙ 

SECTION B — (2  10 = 20 marks) 

Answer any TWO of the following.   

2. What are the sources of information for decision making? 

 °Ææÿ~Ä¶ý*Ë$ ¡çÜ$Mæü$¯óþ çÜÐ@þ*^éÆæÿ… Äñý¬MæüP B«§éÆ>ÌôýÑ? 

3. Discuss about designing of online environment. 
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 B¯ŒþOÌñý¯Œþ G°ÓÆ>¯ŒþÐðþ$…sŒý yìþOgñý°…VŠü Væü*Ça ^èþÇa…^èþ$Ð@þ¬. 

4. Explain about controlling of system development projects. 

 íÜçÜtÐŒþ$ yðþÐ@þË‹³Ððþ$…sŒý {´ëgñýMæü$tË °Ä¶ý$…{™èþ×ý¯@þ$ Væü*Ça ÑÐ@þÇ…ç³#Ð@þ¬. 

5. Briefly explain about various computer networks. 

 ÑÑ«§æþ Mæü…ç³NÅrÆŠÿ ¯ðþsŒýÐ@þÆŠÿPË¯@þ$ Væü*Ça Mæü$Ïç³¢…V> ÑÐ@þÇ…ç³#Ð@þ¬.  

SECTION C — (2  15 = 30 marks) 

Answer any TWO of the following.   

6. Define Software. Explain in types. 

 Ýë‹œtÐóþÆŠÿ¯@þ$ °ÆæÿÓ_…_, §é° ÆæÿM>Ë¯@þ$ ™ðþË$µÐ@þ¬. 

7. Discuss about recent trends in IT. 

 IT ÌZ ¯@þ*™èþ¯@þ JÆæÿÐ@þyæþ$Ë¯@þ$ ^èþÇa…^èþ$Ð@þ¬. 

8. What is Query language? Explain its significance. 

 MæüÓÈ Ìê…VóüÓgŒý A¯@þV>¯óþÑ$? §é° {´ë«§é¯@þÅ™èþ¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

9. State the uses of DBMS. 

 DBMS Äñý¬MæüP {ç³Äñý*f¯éË¯@þ$ õ³ÆöP¯@þ$Ð@þ¬. 

—————— 
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M.COM DEGREE EXAMINATION, DECEMBER 2019. 

Second Year 

ACCOUNTING : ADVANCED FINANCIAL ACCOUNTING 

Time : Three hours Maximum : 70 marks 

SECTION A – (4  5 = 20 marks) 

Answer any FOUR of the following questions.  

1. (a) Limitations of financial accounting 

  AMú…sìý…VŠü ç³ÇÑ$™èþ$Ë$ 

 (b) Liquidity Ratios 

  {§æþÐ@þÅ™èþÓ °çÙµ™èþ$¢Ë$ 

 (c) Need for Valuation of shares 

  ÐésêË Ð@þ$¨…ç³# BÐ@þÔ¶ýÅMæü™èþ 

 (d) Internal Reconstruction 

  A…™èþÆæÿY™èþ ç³#¯@þ]°Æ>Ã×ýÐ@þ¬ 

 (e) Objectives of Financial statement analysis. 

  BÇ¦Mæü °Ðóþ¨MæüË ÑÔóýÏçÙ×ý Ë„>ÅË$ 

 (f) Inflation adjusted statements 

  çÜÆæÿ$ª»êr$ {§æþÐøÅË¾×ý ç³sìýtMæüË$ 

 (g) Limitations of HRA 

  HRA ç³ÇÑ$™èþ$Ë$ 

 (h) Yield method 

  Æ>ºyìþ ç³§æþ®†  
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SECTION B – (2  10 = 20 marks) 

Answer any TWO of the following.  

2. What is Ratio Analysis? Explain its advantages and limitations. 

 °çÙµ†¢ ÑÔóýÏçÙ×ý A¯@þV>¯óþÑ$? §é° Äñý¬MæüP {ç³Äñý*f¯éË$ Ð@þ$ÇÄ¶ý¬ ÌZ´ëË¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

3. Define Financial Reporting? Also state its objectives and types in detail. 

 BÇ¦Mæü Ç´ùÇt…VŠü¯@þ$ °ÆæÿÓ_…_, A§óþÑ«§æþ…V> §é° Ë„>ÅË$ Ð@þ$ÇÄ¶ý¬ ÆæÿM>Ë¯@þ$ çÜÑÐ@þÆæÿ…V> (Mæü$Ïç³¢…V>) 
ÑÐ@þÇ…^èþ…yìþ. 

4. From the following information for the year ended 31st March 2016, Calculate the 
value of goodwill on the basis of three years purchase of average super profits of 
the business. 

Value of non-current and current assets (including goodwill  
Rs. 1,80,000 and patents with less Rs. 40,000) 

Rs. 21,20,000 

Value of non-current and current liabilities Rs. 6,20,000 

Profit before tax for: 

2012-13 
2013-14 
2014-15 
2015-16 

Rs. 4,22,000 
Rs. 4,80,000 
Rs. 5,00,000 
Rs. 4,00,000 

 

 The Tax rate is 40%, Normal rate of return is 10%. 

 Ð@þ*Ça 31, 2016 ¨Væü$Ð@þ ÑÐ@þÆ>Ë ¯@þ$…yìþ Væü$yŠþÑÌŒý ÑË$Ð@þ¯@þ$ çÜVæür$ Ìê¿êË$ Ð@þÊyæþ$ çÜ…Ð@þ™èþÞÆ>Ë 
Mö¯@þ$VøË$Mæü$   
 Væü$yŠþÑÌŒýV> ç³ÇVæü×ìý…^éÍ. 

{ç³çÜ$¢™óþ™èþÆæÿ Ð@þ$ÇÄ¶ý¬ {ç³çÜ$¢™èþ BçÜ$¢Ë$ (MæüËíÜ E¯@þ²Ñ Væü$yŠþÑÌŒý Ææÿ*.1,80,000 
Ð@þ$ÇÄ¶ý¬ õ³sñý…sŒýÞ ÑË$Ð@þ Ìôý°Ñ Ææÿ*.40,000) 

Rs. 21,20,000 

{ç³çÜ$¢™óþ™èþÆæÿ Ð@þ$ÇÄ¶ý¬ {ç³çÜ$¢™èþ Aç³šË$ Rs. 6,20,000 

B§éÄ¶ý$ ç³¯@þ$²Mæü$ Ð@þ¬…§æþ$ Ìê¿êË$ 

2012-13 
2013-14 
2014-15 

Rs. 4,22,000 
Rs. 4,80,000 
Rs. 5,00,000 
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2015-16 Rs. 4,00,000 

 B§éÄ¶ý$ç³# ç³¯@þ$² Æóÿr$ 40 Ô>™èþÐ@þ¬, Ýë«§éÆæÿ×ý Æ>ºyìþ 10 Ô>™èþÐ@þ¬. 

5. From the balance sheet and information given below prepare consolidated balance 
sheet. 

 Balance sheet as on 31st December 2015. 

Liabilities H Ltd 
Rs. 

 S Ltd 
Rs. 

Assets H Ltd 
Rs. 

 S Ltd 
Rs. 

Share Capital  
(Rs.10 fully 
paid) 

10,00,000 
 2,00,000 Sundry Assets 8,00,000  1,20,000 

Profit & Loss 
A/c 

4,00,000 
 1,20,000 Stock 6,10,000  2,40,000 

Reserve 1,00,000  60,000 Debtors 1,30,000  1,70,000 
Creditors 2,00,000  1,20,000 Bills receivable 10,000  - 
Bill payable 

- 
 30,000 Shares in 'S' 

Ltd  
at cost 

1,50,000  - 

 17,00,000  5,30,000  17,00,000  5,30,000 

 (a) All the profit of 'S' Ltd has been earned since the shares were occupied by 'H' 
Ltd, but there was already the reserve of Rs.60,000 at that date. 

 (b) The bills accepted by 'S' Ltd Rs.10,000 are infavour of 'H' Ltd. 
 (c) Sundry Assets at 'S' Ltd are undervalued by Rs.20,000. 
 (d) The stock of 'H' Ltd includes Rs.50,000 bought from 'S' Ltd at a profit to the 

Later of 25 percent on cost.  

 ¨Væü$Ð@þ C_a¯@þ BíÜ¢ Aç³šË ç³sîýtË$ ÑÐ@þÆ>Ë B«§éÆæÿ…V> HMîüMæü–™èþ BíÜ¢ Aç³šË ç³sîýt° ™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 
31 yìþòÜ…ºÆæÿ$, 2015 ¯@þ E¯@þ² BíÜ¢ Aç³šË ç³sìýtMæü.  

 Aç³šË$ H Ltd 
Rs. 

 S Ltd 
Rs. 

BçÜ$¢Ë$ H Ltd 
Rs. 

 S Ltd 
Rs. 

ÐésêË Ð@þÊË«§æþ¯@þ… 
(Ææÿ*.10Ë$ ç³NÇ¢V>  
^ðþÍÏ…_¯@þ¨) 

10,00,000 

  
 

2,00,000 

ÑÑ«§æþ BçÜ$¢Ë$ 8,00,000  1,20,000 

Ìê¿¶ý¯@þÚëtË Rê™é 4,00,000  1,20,000 çÜÆæÿ$Mæü$ 6,10,000  2,40,000 
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ÇfÆæÿ$Ó 1,00,000  60,000 º¬×ý“VæüçÜ$¢Ë$ 1,30,000  1,70,000 

º¬×ý§é™èþË$ 2,00,000  1,20,000 Ð@þçÜ*Ë$ ¼Ë$ÏË$ 10,000  - 

^ðþÍÏ…ç³#¼Ë$ÏË$ 
- 

 30,000 'S' ÍÑ$sñýyŠþÌZ  
ÐésêË$ Mö¯@þ²«§æþÆæÿ 

1,50,000  - 

 17,00,000  5,30,000  17,00,000  5,30,000 

(a) 'S' ÍÑ$sñýyŠþÌZ° Ìê¿¶ýÐ@þ$…™é 'H' Mö¯@þ² ™èþÆæÿ$Ðé™èþ çÜ…´ë¨…_¯@þ§óþ. M>± B ™óþ©Mìü Ææÿ*.60,000 

ÇfÆæÿ$Ó E¯@þ²¨. 

(b) 'S' ÍÑ$sñýyŠ  A…XMæüÇ…_¯@þ ¼Ë$ÏËÌZ 'H' ÍÑ$sñýyŠþMæü$ çÜ…º…«¨…_¯@þÑ Ææÿ*.10,000. 

(c) 'S' ÍÑ$sñýyŠþ ÑÑ«§æþ BçÜ$¢Ë¯@þ$ Ææÿ*.20,000 Ë$ ™èþMæü$PÐ@þV> ÐðþËMæürtyæþÐ@þ¬ fÇW¯@þ¨. 

(d) 'H' ÍÑ$sñýyŠþÌZ° çÜÆæÿ$Mæü$ÌZ 'S' ÍÑ$sñýyŠþ ¯@þ$…yìþ Mö¯@þ$VøË$ ^óþíÜ¯@þ¨ Ææÿ*.50,000 MæüËíÜ E¯@þ²¨. 

B «§æþÆæÿ Mö¯@þ²  

  «§æþÆæÿ Ò$§æþ 25 Ô>™èþÐ@þ¬ MæüË$ç³#Mö° °Ææÿ~Æÿ¬…^èþºyìþ¯@þ¨. 

SECTION C –– (2  15 = 30 marks) 

Answer any TWO of the following.  

6. How do you treat the unrealized profit and dividend? Explain in detail. 

 Ð@þçÜ*Ë$M>° Ìê¿¶ýÐ@þ¬ Ð@þ$ÇÄ¶ý¬ yìþÑyðþ…r$Ë¯@þ$ HÑ«§æþ…V> ç³ÇVæü×ìýÝë¢Ðø Mæü$Ïç³¢…V> ÑÐ@þÇ…^èþ…yìþ? 

7. Describe the recent trends in published accounts. 

 {ç³Mæüsìý…^èþºyìþ¯@þ Rê™éËÌZ CsîýÐ@þËM>Ë…ÌZ Ð@þ_a¯@þ «§øÆæÿ×ý$Ë¯@þ$ Ð@þÇ~…^èþ$Ð@þ¬. 

8. From the following information. Find the value of shares by (a) Net asset method, 

(b) Yield method. where normal rate of return is 14%. 

Liabilities Rs. Assets Rs. 

1,00,000 equity shares of Rs. 10 Each 18,00,000 Goodwill 60,000 

Reserves & surplus 7,00,000 Fixed Assets 20,00,000 

11% Debentures 8,00,000 Current Assets 15,00,000 
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Creditors 2,00,000   

Bills payable 60,000   

 35,60,000  35,60,000 

 The value of assets is assessed as follows. 

 (i) Goodwill  - Rs. 1,00,000 

 (ii) Fixed assets - Rs. 18,90,000 

 (iii) Bad debts  - Rs. 20,000 

 (iv) Profits after tax for current year - Rs. 5,60,000 

 ¨Væü$Ð@þ ÑÐ@þÆ>Ë ¯@þ$…yìþ DMìüÓsîý Ðésê ÑË$Ð@þ¯@þ$ (a) °MæüÆæÿ BçÜ$¢Ë ç³§æþ®† §éÓÆ> Ð@þ$ÇÄ¶ý¬ (b) Æ>ºyìþ ç³§æþ®† 

§éÓÆ> ÌñýMìüP…ç³#Ð@þ¬. Ýë«§éÆæÿ×ý Æ>ºyìþ Æóÿr$ 14 Ô>™èþÐ@þ¬ 

Aç³šË$ Ææÿ*‘‘  BçÜ$¢Ë$    Ææÿ*‘‘ 

DMìüÓsîý Ðésê Ð@þÊË«§æþ¯@þÐ@þ¬ 1,00,000  

ÐésêË$ 1 Mìü Ææÿ*‘‘ 10  
18,00,000 

Væü$yŠþÑÌŒý 60,000 

ÇfÆæÿ$ÓË$ Ð@þ$ÇÄ¶ý¬ Ñ$Væü$â¶ý$å 7,00,000 íÜ¦Æ>çÜ$¢Ë$ 20,00,000 

11% yìþ»ñý…^èþÆæÿ$Ï 8,00,000 {ç³çÜ$¢™èþ BçÜ$¢Ë$ 15,00,000 

º¬×ý§é™èþË$ 2,00,000   

^ðþÍÏ…ç³# ¼Ë$ÏË$ 60,000   

 35,60,000  35,60,000 

BçÜ$¢Ë A…^èþ¯é “Mìü…¨ ™ðþÍí³¯@þ {ç³M>ÆæÿÐ@þ¬  

(i) Væü$yŠþÑÌŒý   & Ææÿ*. 1,00,000 

(ii) íÜ¦Æ>çÜ$¢Ë$   & Ææÿ*. 18,90,000  

(iii) Æ>°»êMîüË$   & Ææÿ*. 20,000   

(iv) {ç³çÜ$¢™èþ çÜ…Ð@þ™èþÞÆæÿÐ@þ¬¯@þMæü$ B§éÄ¶ý$ç³# ç³¯@þ$² ™èþÆ>Ó™èþ Ìê¿êË$ & Ææÿ*. 5,60,000 
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9. With the help of the information given below prepare Trading A/c, Profit and Loss 

A/c and Balance sheet. 

 (a) Gross profit ratio  = 25% 

 (b) Net profit / sales = 20% 

 (c) Sales / Inventory Ratio = 10 

 (d) Fixed Assets / Total current Assets = 5/7 

 (e) Current Ratio = 1 

 (f) Fixed Assets / Share capital = 5/4 

 (g) Fixed Assets = Rs.10,00,000 

 (h) Closing stock = Rs.1,00,000 

 D“Mìü…¨ çÜÐ@þ*^éÆæÿ çÜàÄ¶ý$…™ø Ð@þÆæÿ¢Mæüç³# Rê™é, Ìê¿¶ý¯@þÚëtË Rê™é Ð@þ$ÇÄ¶ý¬ BíÜ¢ Aç³šË ç³sîýt° 
™èþÄ¶ý*Ææÿ$ ^óþÄ¶ý$…yìþ. 

(a) çÜ*¦Ë Ìê¿¶ý °çÙµ†¢ = 25%  

(b) °MæüÆæÿÌê¿¶ý… / AÐ@þ$ÃM>Ë$ = 20% 
 (c) AÐ@þ$ÃM>Ë$ / C¯ðþÓ…rÈ °çÙµ†¢ = 10 

 (d) íÜ¦Æ>çÜ$¢Ë$ / Ððþ¬™èþ¢… {ç³çÜ$¢™èþ BçÜ$¢Ë$ = 5/7 
(e) {ç³çÜ$¢™èþ °çÙµ†¢ = 1 

(f) íÜ¦Æ>çÜ$¢Ë$ / Ð@þÊËÐésê«§æþ¯@þÐ@þ¬  = 5/4  

(g) íÜ¦Æ>çÜ$¢Ë$   = Ææÿ*. 10,00,000   
(h) Ð@þ¬W…ç³# çÜÆæÿ$Mæü$ = Ææÿ*. 1,00,000 

—————— 



 (DCM 24) 
M.Com. DEGREE EXAMINATION, DECEMBER 2019. 

Second Year 
ACCOUNTING : ADVANCED COST AND MANAGEMENT ACCOUNTING 

Time : Three hours Maximum : 70 marks 
SECTION A — (4  5 = 20 marks) 

Answer any FOUR of the following question.  

1. (a) Explain about material variance 

  ç³§éÆæÿ® ¿ôý§æþ… Væü$Ç…_ {ÐéÄ¶ý¬Ð@þ¬. 

 (b) Scope of cost accounting 

  Ð@þÅÄ¶ý$ AMú…sìý…VŠü ç³Ç«¨ 

 (c) Cost ledger 

  Ð@þÅÄ¶ý$ BÐ@þÆ>j 

 (d) Objects of LCA 

  LCA Ë„>ÅË$ 

 (e) Special report 

  {ç³™óþÅMæü °Ðóþ¨Mæü 

 (f) Classification of costs 

  Ð@þÅÄ¶ý$ Ð@þÈYMæüÆæÿ×ý 

 (g) Job order costing 

  gê»Œý BÆæÿzÆŠÿ QÈ§æþ$ 

 (h) Flexible budget 

  ÝûMæüÆæÿÅÐ@þ…™èþOÐðþ$¯@þ ºyðþjsŒý 

SECTION B — (2  10 = 20 marks) 

Answer any TWO of the following.  

2. Define Cost accounting, Explain it's nature and scope. 

 Ð@þÅÄ¶ý$ AMú…sìý…VŠü °ÆæÿÓ_…_, §é° Äñý¬MæüP çÜÓ¿êÐ@þ… Ð@þ$ÇÄ¶ý¬ ç³Ç«§æþ$Ë¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 

3. What is cost allocation? Write about the methods of cost allocation. 

 Ð@þÅÄ¶ý$MóüsêÆÿ¬…ç³# A¯@þV>¯óþÑ$? Ð@þÅÄ¶ý$MóüsêÆÿ¬…ç³# ç³§æþ®™èþ$Ë¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

4. From the following particulars prepare a flexible budget for 80% and 100% 
capacities. 

Level on activity 50% (5000 units) 



Materials Rs.10/unit 

Labour Rs.5/unit 

Direct expenses Rs.3/unit 

Factory overheads Rs.50,000 (10% fixed) 

Administration overheads Rs.1,00,000 (fixed) 

Selling overheads Rs.30,000 (30% variable) 

 D ¨Væü$Ð@þ C_a¯@þ ÑÐ@þÆ>Ë B«§éÆæÿ…V> 80% Ð@þ$ÇÄ¶ý¬ 100% E™éµ§æþMæü Ô¶ýMæü$¢Ë¯@þ$ AíÜ¦ÆæÿºyðþjsŒý¯@þ$ ™èþÄ¶ý*Ææÿ$ 
^óþÄ¶ý¬Ð@þ¬ 

E™éµ§æþMæüÝë¦Æÿ¬/ Ô¶ýMìü¢ 50% (5000 Ä¶ýÊ°sŒýÞ) 

Ððþ$sîýÇÄ¶ý$ÌŒýÞ Ä¶ýÊ°sŒý JMìüP…sìýMìü Ææÿ*.10/- 

“Ô¶ýÐ@þ$  Ä¶ýÊ°sŒý JMìüP…sìýMìü Ææÿ*.5/- 

{ç³™èþÅ„æü QÆæÿ$aË$ Ä¶ýÊ°sŒý JMìüP…sìýMìü Ææÿ*.3/- 

¸ëÅMæütÈ KÐ@þÆŠÿòßýyŠþÞ  Ææÿ*. 50,000 (10% íÜ¦Ææÿ…) 

ç³Ç´ëË¯@þ KÐ@þÆŠÿòßýyŠþÞ  Ææÿ*. 1,00,000 ( íÜ¦Ææÿ…) 

AÐ@þ$ÃMæüç³# KÐ@þÆŠÿòßýyŠþÞ  Ææÿ*. 30,000 (30% ^èþÆæÿ) 

5. Prepare cost sheet showing 

 (a) Cost of material used 

 (b) Prime cost 

 (c) Works cost 

 (d) Cost of production 

Stock of materials (1-1-2017) 10,000 

Stock of finished goods (1-1-2017) 25,500 

Raw material purchased 2,90,000 

Productive wages 1,95,000 

Sales 6,06,000 

Stock of material (31-12-2017) 12,500 

Works overhead 43,000 

Office and general expenses 36,000 

Stock of finished goods (31-12-2017) 24,000 



 “Mìü…¨ ÑÐ@þÆ>Ë¯@þ$ ^èþ*ç³#™èþ* Ð@þÅÄ¶ý$°Ðóþ¨Mæü¯@þ$ ™èþÄ¶ý*Ææÿ$^óþÄ¶ý$…yìþ. 
(a) Ñ°Äñý*W…_¯@þ Ððþ$sîýÇÄ¶ý$ÌŒý Ð@þÅÄ¶ý$Ð@þ¬ 
(b) {´ë£æþÑ$Mæü Ð@þÅÄ¶ý$Ð@þ¬  
(c) Ð@þÆŠÿP Ð@þÅÄ¶ý$…  
(d) E™èþµ†¢ Ð@þÅÄ¶ý$… 

 Ððþ$sîýÇÄ¶ý$ÌŒýÞ °ËÓ (1&1&2017) 10,000 

 ç³NÇ¢ AÆÿ¬¯@þ çÜÆæÿ$Mæü$ °ËÓ (1&1&2017) 25,500 

 Mö¯@þ$VøË$ ^óþíÜ¯@þ Ð@þ¬yìþç³§éÆ>®Ë$ 2,90,000 

 E™éµ§æþMæü Ðóþ™èþ¯éË$ 1,95,000 

 AÐ@þ$ÃM>Ë$ 6,06,000 

 Ððþ$sîýÇÄ¶ý$ÌŒýÞ °ËÓ (31&12&2017) 12,500 

 ç³° KÐ@þÆŠÿòßýyŠþÞ 43,000 

 BïœçÜ$ Ð@þ$ÇÄ¶ý¬ Ýë«§éÆæÿ×ý QÆæÿ$aË$ 36,000 

 ç³NÇ¢ AÆÿ¬¯@þ çÜÆæÿ$Mæü$ °ËÓ (31&12&2017) 24,000 

 
SECTION C — (2  15 = 30 marks) 

Answer any TWO of the following. 

6. From the following information find out 
 (a) Material cost variance 
 (b) Material price variance 
 (c) Material usage variance 

     Quantity of material purchased 3000 units 

     Value of material purchased Rs.9000 

     Standard quantity of material required for per tonne of finished 
product 25 units 

     Standard rate of materials Rs.2 per 
unit 

     Opening stock of materials – 

     Closing stock of materials 500 units 

     Finished product during the year 80 tonnes 

 D “Mìü…¨ ÑÐ@þÆæÿÐ@þ¬Ë™ø  
(a) Ð@þçÜ$¢ Ð@þÅÄ¶ý$ ¿ôý§æþ…  
(b)  ç³§éÆæÿ¦ «§æþÆæÿË Ð@þÅ™éÅçÜ…  
(c)  ç³§éÆæÿ¦ Ñ°Äñý*Væü Ð@þÅ™éÅçÜ… Mæü¯èþ$Vö¯èþ$Ðèþ$$. 
         Mö @̄þ$VøË$ ^óþíÜ¯@þ Ððþ$sîýÇÄ¶ý$ÌŒýÞ ç³ÇÐ@þ*×ý… 3000 Ä¶ýÊ°r$Ï 
         Mö @̄þ$VøË$ ^óþíÜ¯@þ Ððþ$sîýÇÄ¶ý$ÌŒýÞ ÑË$Ð@þ Ææÿ*. 9000 



         JMæü r¯@þ$² ç³NÇ¢V> ™èþÄ¶ý*OÆðÿ @̄þ Ð@þçÜ$¢Ð@þ#ËMæü$ M>Ð@þËíÜ¯@þ Ððþ$sîýÇÄ¶ý$ÌŒý 
Äñý¬MæüP 
         {´ëÐ@þ*×ìýMæü ç³ÇÐ@þ*×ý… 

25 Ä¶ýÊ°r$Ï 

        Ððþ$sîýÇÄ¶ý$ÌŒýÞ {´ëÐ@þ*×ìýMæü Æóÿr$ JMæü Ä¶ýÊ°sŒýMæü$ Ææÿ*. 
2 

        Ððþ$sîýÇÄ¶ý$ÌŒýÞ {´ëÆæÿ…¿¶ýç³# °ËÓ – 

        Ððþ$sîýÇÄ¶ý$ÌŒýÞ Ð@þ¬W…ç³# °ËÓ 500 Ä¶ýÊ°r$Ï 
        çÜ…Ð@þ™èþÞÆæÿM>Ë…ÌZ ç³NÇ¢V> ™èþÄ¶ý*OÆðÿ¯@þ E™èþµ†¢  80 r¯@þ$²Ë$ 

7. The following information related to Job number 1: Find out total cost and selling 
price showing a profit of 25% on selling price. 

 Materials used 32,000 

 Wages 

 Dept A – 80 Hours @ 90 per hour 

 Dept B – 50 Hours @ 60 per hour 

 Dept C – 30 hours @ 77 per hour 

 Overhead 

 Fixed Rs.6,00,000 for 15,000 hours 

 Variable overheads 

 Dept A – Rs.1,50,000 for 5000 hours 

 Dept B – Rs.45,000 for 1500 hours 

 Dept C – Rs.80,000 for 4000 hours. 

 gê»Œý ¯@þ…ºÆæÿ$ "1' Mæü$ çÜ…º…«̈ …_ ¨Væü$Ð@þ ÑÐ@þÆæÿÐ@þ¬Ë ¯@þ$…yìþ Ððþ¬™èþ¢Ð@þ¬ Ð@þÅÄ¶ý$Ð@þ¬ Ð@þ$ÇÄ¶ý¬ AÐ@þ$ÃMæü…Oò³ 
25 Ô>™èþÐ@þ¬ Ìê¿¶ýÐ@þ¬™ø AÐ@þ$ÃMæüÐ@þ¬ ÑË$Ð@þ °Ææÿ~Æÿ¬…ç³#Ð@þ¬. Ñ°Äñý*W…_¯@þ Ððþ$sîýÇÄ¶ý$ÌŒý «§æþÆæÿ Ææÿ*. 
32,000 Ðóþ™èþ¯éË$ 

 A Ñ¿êVæüÐ@þ¬ 80 Væü…rË$ --      & 1 Væü…rMæü$ Ææÿ*. 90.00  
B Ñ¿êVæüÐ@þ¬ 50 Væü…rË$       & 1 Væü…rMæü$ Ææÿ*. 60.00  
C Ñ¿êVæüÐ@þ¬ 30 Væü…rË$        & 1 Væü…rMæü$ Ææÿ*. 77.00  
KÐ@þÆŠÿòßýyŠþÞ 15,000 Væü…rËMæü$ íÜ¦ÆæÿOÐðþ$¯@þ¨ Ææÿ*. 6,00,000  
^èþÆæÿ  KÐ@þÆŠÿòßýyŠþÞ 
Ñ¿êVæüÐ@þ¬ 'A' Ææÿ*. 1,50,000 --      & 5000 Væü…rËMæü$   
Ñ¿êVæüÐ@þ¬ 'B' Ææÿ*. 45,000       & 1500 Væü…rËMæü$ 
Ñ¿êVæüÐ@þ¬ 'C' Ææÿ*. 80,000      & 4000 Væü…rËMæü$ 

8. Write about different types of cost reports? 
 ÑÑ«§æþ ÆæÿM>Ë QÆæÿ$a °Ðóþ¨MæüË¯@þ$ Væü*Ça {ÐéÄ¶ý¬Ð@þ¬. 
9. Discuss the advantages and limitations of budgetary control. 
 ºyðþjrÈ °Ä¶ý$…{™èþ×ý {ç³Äñý*f¯éË$, ç³ÇÑ$™èþ$Ë$ ™ðþË$ç³#Ð@þ¬. 
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ACCOUNTING : TAXATION  
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SECTION A — (4  5 = 20 marks) 

Answer any  FOUR of the following questions. 

1. (a) Assessee. 

  AòÜïÜÞ. 

 (b) Resident and ordinarily resident assessee. 

  AòÜïÜÞ °ÐéíÜ Ðèþ$ÇÄæý$$ Ýë«§éÆæÿ×ý °ÐéíÜ. 

 (c) Retrenchment compensation. 

  †ÆøVæüÐèþ$ è̄þ ¯èþçÙtç³ÇàÆæÿ…. 

 (d) Income from house property situated in a foreign country. 

  Ñ§óþÔèý…ÌZ E è̄þ² Væü–çß ýBíÜ¦ò³O Ðèþ^óþa B§éÄæý$…. 

 (e) Partition of HUF. 

  íßý…§æþ* AÑ¿æýMæü¢ Mæü$r$…º… Äñý$$MæüP Ñ¿æýf¯èþ. 

 (f) Long term capital gain. 

  ©ÆæÿƒM>ÍMæü Ðèþ$*Ë«§æþ¯èþ Ìê¿êË$. 

 (g) Refund of tax. 

  ç³¯èþ$² Ðéç³çÜ$. 

 (h) Recovery of tax  

  ç³¯èþ$² †ÇW Æ>ºr$tr. 

SECTION B — (2  10 = 20 marks) 
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Answer any TWO questions. 

2. State the exceptions as to income of previous year is taxed in the relevant 
assessment year. 

 Væü™èþ çÜ…Ðèþ™èþÞÆæÿ…ÌZ° B§éÄæý*°Mìü {ç³çÜ$¢™èþ ç³ è̄þ$² °Æ>®Ææÿ×ý çÜ…Ðèþ™èþÞÆæÿ…ÌZ ç³¯èþ$² Ñ«̈ …^èþ$rMæü$ E è̄þ² 
Ñ$ è̄þàÆÿ$$…ç³#Ë¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

3. What is residential status? When does a resident individual become a resident but 
not ordinarily resident? 

 °ÐéçÜ {ç³†ç³†¢ A¯èþV>¯óþÑ$? H çÜ…§æþÆæÿÂ…ÌZ ÐèþÅMìü¢ °ÐéÝë°² °ÐéçÜ…V> ç³ÇVæü×ìýçÜ*¢ Ðèþ$ÇÄæý$$ Ýë«§éÆæÿ×ý 
°ÐéíÜV> ç³ÇVæü×ìý…^èþÆæÿ$? 

4. Mr. Abhimanyu is engaged in the business of generation and distribution of 
electric power. He always opts to claim depreciation on written down value for 
income-tax purposes. From the following details, compute the depreciation 
allowable as per the provisions of the Income-tax Act, 1961 for the assessment 
year 2018-19: 

     (Rs. in lacs) 

 (a) Opening WDV of block (15% rate) 42 

 (b) New machinery purchased on 12-10-20 17 10 

 (c) Machinery imported from Colombo on 12-4-2017. 9 

  This machine had been used only in Colombo earlier and the assessee is the 
first user in India. 

 (d) New computer installed in generation wing of the unit on 15-7-2017 2 

  

 AÀÐèþ$¯èþ*Å Ñ§æþ$Å™Œþ ÔèýMìü¢ E™èþµ†¢ Ðèþ$ÇÄæý$$ ç³…í³×îý ÐéÅ´ëÆæÿ…ÌZ °Ðèþ$Væü²Ððþ$O E¯é²yæþ$. A™èþ¯èþ$ Gç³šyæþ$ ÇrÆŠÿ² 
yú¯Œþ ÑË$Ðèþ¯èþ$ B§éÄæý$ç³# ç³¯èþ$² MøçÜ… ™èþÆæÿ$Væü$§æþËò³O ´÷…§æþ$rMæü$ G¯èþ$²Mæü$…sêyæþ$. 2018-19 ç³¯èþ$² °Æ>®Ææÿ×ý 
çÜ…Ðèþ™èþÞÆ>°Mìü A¯èþ$Ðèþ$†…^èþ§æþVæüY ™èþÆæÿ$Væü$§æþË¯èþ$ D {Mìü…¨ C_a è̄þ çÜÐèþ*^éÆæÿ… §éÓÆ> Væü×ìý…^èþ…yìþ. B§éÄæý$ç³# 
ç³¯èþ$²^èþrtÐèþ$$, 1961 Mìü çÜ…º…«¨…_¯èþ °º…«§æþ¯èþË¯èþ$ A¯èþ$çÜÇ…_ D ™èþÆæÿ$Væü$§æþË è̄þ$ Væü×ìý…^èþ…yìþ. 

     ( . Ë„æüËÌZ) 

 (a) WDV »êÏMŠü ™ðþÆæÿ$Ðèþ#r §éÓÆ> (15% Æóÿr$) 42 

  (b) 12-10-2017 è̄þ Mö™èþ¢ Äæý$…{™éË$ Mö¯èþ$VøË$ ^óþÔ>Ææÿ$ 10 

 (c) 12-4-2017 MöË…»Z ¯èþ$…yìþ ¨Væü$Ðèþ$† ^óþçÜ$Mæü$¯èþ² Äæý$…{™éË QÈ§æþ$ 9 

  D Äæý$…{™éË$ ç³NÆæÿÓ… MöË…»ZÌZ Ðèþ*{™èþÐóþ$ Ñ°Äñý*W…^éÆæÿ$ D Äæý$…{™éË ¿êÆæÿ™èþ§óþÔèý…ÌZ 
Ððþ$$§æþsìý Ñ°Äñý*W…_¯èþ ÐèþÅMìü¢ AÀÐèþ$ è̄þ$Å. 

 (d) 15-7-2017 ¯èþ Äæý$*°sŒý Äñý$$MæüP f¯èþÆóÿçÙ¯Œþ Ñ¿êVæü…ÌZ Mö™èþ¢ Mæü…ç³NÅrÆŠÿ C¯ŒþÝëtÌŒý ^óþÄæý$$rMæü$ 
ò³sìýt̄ èþ QÆæÿ$a  2  

5. Enumerate the privileges conferred on a foreign technician by the Income-tax Act, 
1961 and the conditions to be fulfilled for eligibility of the concessions. 
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 B§éÄæý$ç³# ç³¯èþ$² ^èþrt…, 1961 §éÓÆ> JMæü Ñ§óþÖ Ýë…Móü†Mæü °ç³#×ý$yìþMìü CÐèþÓºyìþ¯èþ A«¨M>Æ>Ë¯èþ$ 
ÑÐèþÇ…^èþ…yìþ.  

SECTION C — (2  15 = 30 marks) 

Answer any TWO questions. 

6. From the following details, compute the total income of Siddhant of Delhi and tax 
payable for the A.Y. 2018-19: 

 Particulars  Rs. 

 Salary including dearness allowance 3,35,000 

 Bonus    11,000 

 Salary of servant provided by emloyer 12,000 

 Rent paid by Siddhant for his accommodation  49,600 

 Bills paid by the employer for gas, electricity and water provided free of  11,000 

 cost at the above flat  

 Siddhant purchased a flat in a co-operative housing society in Delhi for Rs. 
4,75,000 in April, 2011, which was financed by a loan from Life Insurance 
Corporation of India of Rs. 1,60,000 @15% interest, his own savings of Rs. 65,000 
and a deposit from a nationalized bank for  
Rs. 2,50,000 to whom this flat was given on lease for ten years. The rent payable 
by the Bank was Rs. 3,500 per month. The following particulars are relevant: 

 (a) Municipal taxes paid by Mr. Siddhant Rs. 4,300 (per annum) 

 (b) House Insurance Rs. 860 

 (c) He earned Rs. 2,700 in share speculation business and lost Rs. 4,200 in 
cotton speculation business. 

 (d) In the year 2012-13, he had gifted Rs. 30,000 to his wife and Rs. 20,000 to his 
son who was aged 11 .The gifted amounts were advanced to Mr. Rajesh, who 
was paying interest @19% per annum. 

 (e) Siddhant received a gift of Rs. 25,000 each from fourfriends. 

 (f) He contributed Rs. 50,000 to Public Provident Fund 
   D {Mìü…¨  çÜÐèþ*^éÆæÿ… §éÓÆ> ÉìþÎÏÌZ° íÜ§é®…™èþ Äñý$$MæüP Ððþ$$™èþ¢… B§éÄæý*°² Ðèþ$ÇÄæý$$ 2018-19  

ç³¯èþ$² °Æ>®Ææÿ×ý çÜ…Ðèþ™èþÞÆ>°Mìü ^ðþÍÏ…^èþÐèþËíÜ¯èþ ç³¯èþ$² è̄þ$ Væü×ìý…^èþ…yìþ. 
  ÑÐèþÆæÿÐèþ$$Ë$  Ææÿ*. 
  MæüÆæÿ$Ðèþ# ¿æý™èþÅÐèþ$$™ø Mæü*yìþ¯èþ i™èþÐèþ$$ 3,35,000 

  »Z¯èþ‹Ü    11,000 

  Äæý$fÐèþ*° A…¨…_ è̄þ õÜÐèþMæü$° Äñý$$MæüP i™èþÐèþ$$ 12,000 
  ™èþ è̄þ ÐèþçÜ† MøçÜ… íÜ§é®…™Œþ ^ðþÍÏ…_ è̄þ A§ðþª  49,600 

  V>Å‹Ü, Ñ§æþ$Å™èþ$¢ Ðèþ$ÇÄæý$$ ±sìýMðüO Äæý$fÐèþ*° ^ðþÍÏ…_¯èþ ¼Ë$ÏË$  
  ò³O¯èþ õ³ÆöP°¯èþ °ÐéçÜ…ÌZ D çÜ§æþ$´ëÄæý*Ë$ E_™èþ…V> CÐèþÓr… fÇW…¨   11,000 
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 H{í³ÌŒý, 2011 ¯èþ ÉìþÎÏÌZ íÜ§éª…™Œþ Mø Bç³ÆóÿsìýÐŒþ çßoíÜ…VŠü Ý÷òÜOsîýÌZ JMæü ¸ëÏsŒý è̄þ$ Ææÿ*. 4,75,000 ËMæü$ 
Mö è̄þr… fÇW…¨. A…§æþ$MøçÜ… ¿êÆæÿ™èþ§óþÔèýç³# iÑ™èþ ÁÐèþ* çÜ…çÜ¦ ¯èþ$…yìþ Ææÿ*. 1,60,000 º$$×ý… ¡çÜ$Mö° 
§é°Mìü 15% Ðèþyîþz ^ðþÍÏ…^èþr… fÇW…¨, Ý÷…™èþ…V> ´÷§æþ$ç³# ^óþíÜ¯èþÑ Ææÿ*. 65,000 Ðèþ$ÇÄæý$$ JMæü gê¡Äæý$ 
»êÅ…MŠüMæü$ B ´ëÏsŒý¯èþ$ ÎkMæü$ CÐèþÓr… §éÓÆ> Ðèþ_a¯èþ è̄þVæü§æþ$ yìþ´ëhsŒý Ææÿ*. 2,50,000 D »êÅ…MŠü ¯ðþËMæü$ 
^ðþÍÏçÜ$¢¯èþ² A§ðþª Ææÿ*. 3,500 D {Mìü…¨ çÜ…º…«̈ ™èþ çÜÐèþ*^éÆæÿ… CÐèþÓr… fÇW…¨. 

 (a) íÜ§é®…™Œþ ^ðþÍÏ…_¯èþ Ðèþ$$°Þç³ÌŒý ç³¯èþ$²Ë$ Ææÿ*. 4,300 (çÜ…Ðèþ™èþÞÆ>°Mìü) 

 (b) Væü–à°Mìü ÁÐèþ* Ææÿ*. 860 

 (c) õÙÆŠÿ òÜµMæü$ÅÌôýçÙ¯Œþ ÐéÅ´ëÆæÿ… §éÓÆ> Ðèþ_a¯èþ ¯èþçÙt… Ææÿ*. 2,700 Ðèþ$ÇÄæý$$ M>r¯Œþ òÜµMæü$ÅÌôýçÙ¯Œþ ÐéÅ´ëÆæÿ… 
§éÓÆ> Ðèþ_a¯èþ ¯èþçÙt… Ææÿ*. 4,200 

 (d) 2012-13 çÜ…Ðèþ™èþÞÆæÿ…ÌZ íÜ§é®…™Œþ ™èþ¯èþ ¿êÆæÿÅMæü$ C_a¯èþ ºçßý$Ðèþ$† QÈ§æþ$ Ææÿ*. 30,000 Ðèþ$ÇÄæý$$ ™èþ¯èþ  
11 çÜ…Ðèþ™èþÞÆ>Ë Mæü$Ðèþ*Ææÿ$°Mìü C_a¯èþ ºçßý$Ðèþ$† QÈ§æþ$ Ææÿ*. 20,000 D ºçßý$Ðèþ$™èþ$Ë MøçÜ… A™èþ¯èþ$ 
Æ>gôý‹Ù ¯èþ$…yìþ Ðèþ$$…§æþ$Mæü$ ¡çÜ$Mö° ÐésìýMìü 19% (çÜ…Ðèþ™èþÞÆ>°Mìü Ðèþyîþª ^ðþÍÏçÜ$¢̄ é²yæþ$). 

 (e) íÜ§é®…™Œþ ™èþ¯èþ ¯èþË$Væü$Ææÿ$ õÜ²íßý™èþ$Ë ¯èþ$…yìþ ºçßý$Ðèþ$†V> JMöPMæüPÇ Ðèþ§æþª Ææÿ*. 25,000 ¡çÜ$Mæü$¯é²Ææÿ$. 

 (f) {ç³gê ¿æýÑçÙÅ °«̈ ÌZ A™èþ è̄þ$ E…_¯èþ¨ Ææÿ*. 50,000  

  

7. From the Profit and Loss Account of Alo of 36 years old for the year ending March 
31, 2018, ascertain her Total Income and Tax liability for the Assessment Year 
2018 -19: 

Particulars  Rs. Particulars Rs. 

General Expenses 13,500 Gross Profits 3,17,000 

Bad debts 22,000 Commission 8,800 

Advance Tax 3,000 Brokerage 37,000 

Insurance 800 Sundry receipts 2,500 

Printing & Stationery 1,200 Bad debt recovered  
(earlier allowed as deduction). 

11,000 

Salary to Staff 27,000 Interest on debentures  
(i.e., net amount Rs.18,000 +  
tax deducted at source: Rs. 2,000). 

20,000 

Salary to Alo 51,000 Interest on deposit with a  
company (non — trade)  
(net interest : Rs.13,500 +  
tax deducted at source: Rs1,500) 

15,000 

Interest on Overdraft 4,000   

Interest on loan to Chandra 41,000   

Particulars  Rs. Particulars Rs. 
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Interest on capital of  Alo 22,000   

Depreciation 48,000   

Advertisement expenditure 7,000   

Contribution to employees’  
Recognized Provident Fund 

7,800   

Net Profit 1,63,000   

 4,11,300  4,11,300 

 Other information 

 (a) The amount of depreciation allowable is Rs. 45,000 as per the income tax 
rules. It includes depreciation on permanent sing board. 

 (b) Advertisement expenditure includes Rs. 2,000, being cost of permanent sing 
board fixed on office premises. 

 (c) Income of Rs. 2,500, accrued during the Previous Year, is not recorded in the 
Profit and Loss Account. 

 (d) Mo pays Rs. 9,000 as premium on own life insurance policy of Rs. 1, 00,000. 

 (e) General expenses include: 

  (i) Rs. 1,500 given to sister for arranging a party in her birthday party  

  (ii) Rs. 1,000 being contribution to a political party. 

 (f) Loan was taken from Chandra for payment of arrears of Income — tax. 

 Ðèþ*Ça 31 2018 ¯ésìýMìü AÌZ A¯óþMæü JMæü 36 çÜ…Ðèþ™èþÞÆ>Ë VæüË ïÜˆ ™èþ¯èþ Ìê¿æý¯èþÚëtË §éÓÆ> 2018 –19 ç³¯èþ$² 
°Æ>®Ææÿ×ý çÜ…Ðèþ™èþÞÆ>°Mìü BÐðþ$ Äñý$$MæüP Ððþ$$™èþ¢… B§éÄæý*°² Ðèþ$ÇÄæý$$ ç³¯èþ$² »ê«§æþÅ™è ¯èþ$ Mæü¯èþ$Vö¯èþ…yìþ.þ 

ÑÐèþÆ>Ë$  Ææÿ*. ÑÐèþÆ>Ë$ Ææÿ*. 

Ýë«§éÆæÿ×ý QÆæÿ$aË$ 13,500 çÜ*¦Ë Ìê¿êË$ 3,17,000 

Æ>° »êMîüË$ 22,000 MæüÒ$çÙ¯Œþ 8,800 

Ðèþ$$…§æþçÜ$¢ ç³¯èþ$² 3,000 {»ZMæüÆóÿgŒý 37,000 

ÁÐèþ* 800  çÜ Œ̄þ{yîþ ÆæÿïÜ§æþ$Ë$ 2,500 

{í³…sìý…VŠü Ðèþ$ÇÄæý$$ õÜtçÙ¯èþÈ 1,200 Æ>° »êMîüË$ ÐèþçÜ*Ë$ ^óþÄæý$ºyìþ…¨  

(ç³NÆæÿÓ… ™èþWY…ç³#ËMæü$ A¯èþ$Ðèþ$†…^éÆæÿ$). 

11,000 

íÜº¾…¨Mìü i™èþ… 27,000 yìþ»ñý…^èþÆæÿÏò³O Ðèþyîþz   
(°MæüÆæÿ Ððþ$$™èþ¢… Rs.18,000 +  

ÐèþçÜ*Ë$ Ðèþ§æþªç³¯èþ$² ™èþWY…ç³#Rs. 2,000). 

20,000 

ÑÐèþÆ>Ë$  Ææÿ*. ÑÐèþÆ>Ë$ Ææÿ*. 
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AÌZMæü$ i™èþ… 51,000 Mæü…ò³± yìþ´ëhsŒýò³O Ðèþyîþz (Ðé×ìýgêÅ… M>°)  

 (°MæüÆæÿ Ðèþyîþz — Ææÿ*. 13,500 +  
Ðèþ$*Ë… Ðèþ§æþª ç³¯èþ$² ™èþWY…ç³# Ææÿ*.1,500) 

15,000 

KÐèþÆŠÿ {yé‹œtò³O Ðèþyîþz 4,000   

^èþ…{§æþMæü$ Ðèþ_a¯èþ ÌZ¯èþ$ò³O Ðèþyîþz 41,000   

AÌZ Ðèþ$*Ë«§æþ è̄þ… ò³O Ðèþyîþz 22,000   

™èþÆæÿ$Væü$§æþË 48,000   

{ç³Mæür¯èþ QÆæÿ$aË$ 7,000   

Væü$Ç¢…^èþºyìþ¯èþ E§øÅVæü ¿æýÑçÙÅ °«¨Mìü 
C_a è̄þ¨ 

7,800   

°MæüÆæÿÌê¿æý… 1,63,000   

 4,11,300  4,11,300 

 C™èþÆæÿ çÜÐèþ*^éÆæÿ…: 
 (a) B§éÄæý$ç³# ç³¯èþ$² °Äæý$Ðèþ*Ë$ {ç³M>Ææÿ… A¯èþ$Ðèþ$†…^èþ §æþVæüY ™èþÆæÿ$Væü$§æþË Ææÿ*. 45,000 C…§æþ$ÌZ Ô>ÔèýÓ™èþ 

òÜO¯Œþ »ZÆŠÿz ò³O ™èþÆæÿ$Væü$§æþË MæüË§æþ$. 
 (b) BïœçÜ$ ç³ÇçÜÆ>ËÌZ HÆ>µr$ ^óþíÜ è̄þ Ô>ÔèýÓ™èþ òÜO¯Œþ »ZÆæÿ$zMæü$ Ææÿ*. 2,000 AÆÿ$$¯èþ QÆæÿ$a {ç³Mæür¯èþ QÆæÿ$aÌZ 

CÑ$yìþE è̄þ²¨. 
 (c) Væü™èþ çÜ…Ðèþ™èþÞÆæÿ…ÌZ ´÷…¨¯èþ B§éÄæý$… Ææÿ*. 2,500, C¨ Ìê¿æý è̄þÚëtË Rê™éÌZ ¯èþÐðþ*§æþ$ ^óþÄæý$ºyæþÌôý§æþ$. 
 (d) AÌZ ™èþ è̄þ iÑ™èþÁÐèþ* ´ëËïÜ AÆÿ$$¯èþ Ææÿ*. 1, 00,000. ^ðþÍÏ…_¯èþ {ï³Ñ$Äæý$… Ææÿ*. 9,000 

 (e) Ýë«§éÆæÿ×ý QÆæÿ$aË$: 

  (i) ™èþ¯èþ ç³#sìýt è̄þ Æøk çÜ…§æþÆæÿÂ…V> ™èþ¯èþ Ýù§æþÇ HÆ>µr$ ^óþíÜ¯èþ ç³#sìýt¯èþ Æøk Ðóþyæþ$MæüMæü$ ^ðþÍÏ…_¯èþ 
Ððþ$$™èþ¢…  
Ææÿ*. 1,500  

  (ii) Æ>fMîüÄæý$ ´ëÈtMìü ^ðþÍÏ…_¯èþ Ððþ$$™èþ¢… Ææÿ*. 1,000. 

 (f) B§éÄæý$ç³¯èþ$² ºM>Æÿ$$Ë$ ^ðþÍÏ…^èþ$rMæü$ ^èþ…{§æþ ¯èþ$…yìþ º$$×ý… ¡çÜ$MøÐèþr… fÇW…¨. 

8. Explain the procedures regarding refund of excess tax paid by the assessee to the 
Department.  

 Ô>QMæü$ AòÜïÜÞ B§éÄæý$ç³# ç³¯èþ$² Ðéç³çÜ$Mæü$ çÜ…º…«¨…_¯èþ Ñ«§é¯éË¯èþ$ ÑÐèþÇ…^èþ…yìþ. 

9. What are the various grounds of appeals available before different types of 
authorities to the assessee? 

 ÑÑ«§æþ ÆæÿM>ÌñýO è̄þ A«¨M>Ææÿ$Ë Ðèþ$$…§æþ$ AòÜïÜÞMìü çÜ…º…«¨…_¯èþ A…§æþ$»êr$ÌZ E¯èþ² ÑÑ«§æþ ÆæÿM>ÌñýO¯èþ Aï³µâæý$å 
HÑ$? 

––––––––––– 


